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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Everyone ______ save the natural resources of the earth.
* must
* might
* could
* dare
Correct Answer :-must
2)
Question Stimulus :-

Fill in the blank with the correct option.

you tell me the way to the station please?

Might
® Must
* May
® Could
Correct Answer :-Could
3)
Question Stimulus :-

Fill in the blank with the correct option.

You take an umbrella in case it rains.

e should



* might

* could

* dare
Correct Answer :-should
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

There is a danger of the conflict spreading
e of
* for
e from
® across
Correct Answer :-across
5)

Question Stimulus :-

Fill in the blank with the correct preposition.

the whole of Central Africa.

There was a small table the bed, on which there was a book.

* into

® in

® besides

* beside
Correct Answer :-beside
6)

Question Stimulus :-

Fill in the blank with the correct preposition.



The children squealed in delight when they saw all the Presents

tree.

e from

* under
Correct Answer :-under
7)

Question Stimulus :-

Fill in the blank with the correct prepositions.

Sheran_______ the police station ______ help.
e for, for
* into, by
e towards, for
e besides, for
Correct Answer :-towards, for
8)

Question Stimulus :-

the Christmas

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark

your answer as ‘No error’.
e India has
* never attack on
®* any country.
® No Error

Correct Answer :-never attack on

9)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* David have been

e dialing your number

* since Thursday.

®* No Error
Correct Answer :-David have been
10)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e A manis judged

e by his deeds,

e and not by his word.

® No Error
Correct Answer :-and not by his word.
11)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* My youngest son
¢ have been playing indoor games
® since morning.

e No Error



Correct Answer :-have been playing indoor games

12)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* Don't count

e your chicken

e before they're hatched.

® No Error
Correct Answer :-your chicken
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* The cows

* are

e economically useful.

® No Error
Correct Answer :-The cows
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you had helped me,
e I would have

e definitely helped you.



e No Error
Correct Answer :-No Error
15)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* As soon as we will

* reach the hostel,

e we'll inform our parents.

® No Error
Correct Answer :-As soon as we will
16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
* He parked an car in front of the bakery.
e He parked the car in front of the bakery.
®* He park the car in front of the bakery.
®* He parked car in front of the bakery.
Correct Answer :-He parked the car in front of the bakery.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

His property was agreed to be disposed of by him.
* He agreed to dispose of his property.

e He has agreed to dispose of his property.



* He had agreed to dispose of his property.

e He agrees to dispose of his property.
Correct Answer :-He agreed to dispose of his property.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The winning novel was chosen by a panel of famous fiction writers.

* A panel of famous fiction writers is choosing the winning novel.

¢ A panel of famous fiction writers had chosen the winning novel.

* A panel of famous fiction writers were choosing the winning novel.

* A panel of famous fiction writers chose the winning novel.
Correct Answer :-A panel of famous fiction writers chose the winning novel.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

Why has the window pane been broken by you?

* Why had you broken the window pane?

e Why were you breaking the window pane?

® Why did you break the window pane?

e Why have you broken the window pane?
Correct Answer :-Why have you broken the window pane?
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.



Alex said, "I will be in Geneva on Monday".

* Alex said that he would be in Geneva on Monday.

* Alex said that he will be in Geneva on Monday.

® Alex said that he is going to be in Geneva on Monday.

e Alex said that he will be going to Geneva on Monday.
Correct Answer :-Alex said that he would be in Geneva on Monday.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Katherine said, "I was walking along the street”.

e Katherine said that she was walking along the street.

e Katherine said that she had been walking along the street.

e Katherine said that she has been walking along the street.

e Katherine said that she had walked along the street.
Correct Answer :-Katherine said that she had been walking along the street.
22)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

“Sameer said to me, "Have you ever been to Mexico”?
e Sameer asked me if I have ever been to Mexico.
* Sameer asked me if I have been to Mexico.
e Sameer asked me if I had ever been to Mexico.
e Sameer asked me if I had been to Mexico.

Correct Answer -Sameer asked me if I had ever been to Mexico.

23)



Question Stimulus :-
Fill in the blank with the correct option.

Politicians make many promises, but very __ of them are implemented.
°* few
* little
* some
* afew
Correct Answer :-few
24)
Question Stimulus :-

Fill in the blank with the correct option.

He has sent his bookto___ publishing companies.
* few
* afew
o little
® the little
Correct Answer :-a few
25)
Question Stimulus :-

Fill in the blank with the correct option.

Thereis _____ milk in my glass.
o little
* a little
* the little

e afew



Correct Answer :-a little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

When do Penguins come on land?
¢ When they are hungry.
* When they have to bring up their children.
e When they have to migrate to a warmer place.

® None of the above.

Correct Answer :-When they have to bring up their children.

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may



appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

What does the expression ‘walk with a waddle' means?
e Walk with short steps and a clumsy swaying motion.
®* Run speedily with slim legs.
e Stand still at a place and move one’s head.

® None of the above.

Correct Answer :-Walk with short steps and a clumsy swaying motion.

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.



Which word in the passage means ‘extremely or unusually small'?
* Webbed
®* Diminutive
* Awkward
®* Farthest

Correct Answer :-Diminutive

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

What is the meaning of the word ‘gait’?
®* Threshold
* Entrance
e Manner of walking
® Speed
Correct Answer :-Manner of walking

30)



Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

A penguin is a water bird that can't fly. It has webbed feet and wings that look like
flippers. It uses its wing flippers for underwater swimming. Many penguins live in the
icy waters in or near Antarctica. They seldom visit land except to raise their young
ones. Penguins have short legs and tall, torpedo-shaped, bodies. On land they are able
to stand upright, and because of their stature, they walk with a waddle. They may
appear awkward, but penguins actually walk about as fast as people. They also climb
rocky shores by hopping from rock to rock. Some penguins travel over ice and snow by
‘tobogganing’ sliding on their bellies. But penguins travel best by swimming, hour after
hour. There are 17 species of penguins, ranging in size from the largest emperor
penguin to the diminutive fairy penguin. Penguins will not cross warm ocean water;
therefore, they are all found in south of the equator. The Galapagos penguin lives in the
farthest north, near the equator in the cold waters around the islands of the same
name.

Penguins are popular around the world, primarily for their unusually upright, waddling
gait and (compared to other birds) lack of fear of humans. Their striking black-and-
white plumage is often likened to a tuxedo suit.

What is the meaning of the word ‘plumage’?
e Covering of feathers
* A tall stature
e A swift body

¢ None of the above.

Correct Answer :-Covering of feathers

Topic:- Hindi
1)

Question Stimulus :-

?gﬁ@awﬂraﬁmﬂqﬁ;wm R &g T sgfawad u=Al o O fowew &1 9=
|

HERTUN YaTy Rig SRIA-SiTd AR-AR fihed 4, 3o+t T 3k a=df & Y@ | dsud 3@d &, IR
g I AN B g1a 181 A, forgia 3% srfiargd® sitd 359 @1 awfa &, wife 3 99 9
& sroeit wafer &t frar o e &1 8 J@d! 8, Sa-t g 3t T8l | TP aR TP A
uﬁﬁﬁm%auﬁuswmmﬁmmqm, “3q ORT fper wal 8~
S FEU W F1Y YWD SR fed1, “ugi” 91 & forgrgsit & forg a8t a1 Wit g 71 # fzaw
Ud® Fedl § {5 S gaT =9 9 JTdl A gERI BT GeRT °9T8d 8, SN Tl UP 4T RIS gal $d
g 3R 9% AFUR! §11 Fd &, T MH-TPR & BT H IAT 781 H P 3¢ W4 faaR



BT T T 3T FRR H3A1, gkl o1 Sfa a1al &1 g qugrd g4 W 397 siem Haa =
ﬁm%ﬂwmﬁnlmaﬁﬁ?ﬁﬁﬁwﬁmmaﬁ?ﬁm , DT &Y Sita
S ST HewaHY 3R ifawd 81, 99 st AR Tadadr iR smafadRar Wlaﬁtﬁ%
Wﬁqmaﬁ%m,ﬁﬁﬁﬂaﬁmﬁWWGﬁ%auw?ﬂaﬁ@ foreiq erre-
TWaAdT B 3R FH a1 e iR oid & oy oo+t &t nifa @11 oy ugwr 9t g ok RIS
IUP TG TeU & 3MHY W fRR gl 8, 98 Siiad 3R wH-87 # Wy W} 9y 3R 399 gdr g i
gﬁ;ﬁm%sﬁvmmélmmwwww%w;}ﬁmmnﬁl
9 AP AT B! IR W I U I WPR 81 1 3R WY gt faHT &1 HerT
APY 3A® U YIS HHY & Ji feor@ev ar@l =yl &1 BT v RR | Iar faan)

HeRTUN yary Rig # ufel 3R = Y@ T dsud ¥, fie ot 3= 5= a6t ara 8t 9t 2
o Y 3% faRieht A
* il 39 gedr Al |red 3l
o Gt 3P g Al
o it 3% refiaT dw Sfid ¥e+ @1 T Id
Correct Answer ;-3 3% JAtfi=ar gd& Sfid 78 @1 gaE <d U
2)

Question Stimulus :-
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3)
Question Stimulus :-
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4)

Question Stimulus :-
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5)
Question Stimulus :-
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6)

Question Stimulus :-
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fasrg Faa dig ot 716, o B I U= W YA
gl Fr Ted FHTE, T fi@ad WR-w qHI

AR P o A AT AT ¢ ?



o A FI ofia
e BRAEARI & ¥a W i
e WIg P PRIER
e HIgT HAGHT
Correct Answer :-gRART & 96 W Sfid

10)

Question Stimulus :-

fFrafafaa s1e @ aFyde Teer 3UF i fd T sgfawad! uxAl # Odt fawer &1 aa= #¥)

1 ® SR &1 98 @, gHRT SIdigdr e |
) 1y @ @ forn, SRy g &1 A1 gfoe
Ry fawga iR srue & i &1 3«ms|

¢ a1 onft faarg v, W TR # 9% WIS

i BT A-APR S AW, 3T B! afe, PR S gl
gl 3 faar wifa Wdwr, it gid 3e |rHal
fasrg e aig & T8, o Bt W 2T W YA
fig BT Y8 TuTe, <1 fe@ad W= gH|

PIH-A1 THTe fHef a5 T o1 ?
° 3ENB
* TMd¥ §=
o fqmER
* IW
Correct Answer :-3®I%

11)

Question Stimulus :-
“Fg+T 7 Ut fa v A @2



o T 9§ PIg TEl
Correct Answer :-F=i@a
12)
Question Stimulus :-
31T’ Uead v g | 72
* 3EHE
* 4
* gagma
o Iudaa |
Correct Answer :-3udaa at

13)

Question Stimulus :-
fFufaf@a o T8 gerat &1 7a+ Fife-
o Jif@ @t arelt
o 3G FI Yol
* 3@ HT AR
* 3T FT a1
Correct Answer :-3i7@ $T aRT
14)

Question Stimulus :-

“gga Al HTHISH B 9 a9 & e Iuged <Ieg g ?
* ggurd



Correct Answer :-ggymuifdg

15)

Question Stimulus :-
fad M T & forg ue reg @1 WAt Fifore-
o aeT A 99 ugd forar Sirar @

o Ty

* YYH WRUY

* 3NNy

o {dAH
Correct Answer :-3RTg
16)
Question Stimulus :-
"UfRT’ <eq BT dgd BT

° UMM

* Uld

° UG

e yuf
Correct Answer :-ufd

17)

Question Stimulus :-

T @1 faudtard® ug ghm-
o Ay
o wifa



* YD
* JYPR
Correct Answer :-3U®R
18)
Question Stimulus :-
I$’ o1 ygigar T8 3-
° g
* Uy
o faeu
o T A TIE T
Correct Answer :-398 ¥ $I5 T8l
19)
Question Stimulus :-
“HET+ WY’ T A <reg gRT-
o Hgrefiuy
o RNy
* HEWq
o TENIY
Correct Answer :-Hgiuy
20)
Question Stimulus :-
arfier & wfYr 2-
o ¥ fY
o o Y

o fawf dfy



o di wfY
Correct Answer :-&ai Hf
21)
Question Stimulus :-
TS’ &1 O s Fifsre-
* T+3F
* N+3F
o N+3F
o N4+3%
Correct Answer :-1+3i®
22)
Question Stimulus :-
"ol URTAUAT Weg H AN UgaI-g-
o o aEy
* Y ATy
o PR aFTY
o FRU AGET
Correct Answer :-3(fi&0r aq&y
23)

Question Stimulus :-

farsy-faror
T | IS Tl



Correct Answer :-fagigur

24)

Question Stimulus :-

RHTIF W ' & e i § | Toa e o1 99w Fife-
o g
* ISP
e Hrar-foan
o BeH
Correct Answer :-3@d

25)

Question Stimulus :-

TP W ‘B & g fa A @ e ey a1 w97 Fifoe-
* BT
* g
* TS
* JHY
Correct Answer :-3m¢d

26)

Question Stimulus :-

fu fiedl & @ e a |8l 8, 9 T BT 994 Fifore-
o T foal smqsit I amsi
o T® fPal e arsn
o UH fFal rqd ansit
o Iudaa a
Correct Answer :-Ta el amq @rsit

27)



Question Stimulus :-

g # ¥ ve 9199 99 €, Td a1 BT 99 BIfore-
o JU @ W ATAT§
o IOA IRI-UTA el @Y
o ¢y T wITUS T
o & IAUR SINTGT 3@
Correct Answer :-334 IRI-UTEI Jddl @g

28)

Question Stimulus :-

“Sl 4 ST 81 SHH ¥ UIST 3a J9H1 A1y § a1 HT YR Ugar-g-
o faftrar®
o fowTgara®
* UAED
o THEAED
Correct Answer :-3g3MdA®

29)

Question Stimulus :-

g ¥ 3 o+ vgarte-

o fadt

Correct Answer :-arcHife

30)

Question Stimulus :-



Correct Answer :-3Y:

31)
Question Stimulus :-

“TP A YT goll A dgr” it B e 8-
o 3RYT Brd
* T& QU al gu
o dT g
. e gl
Correct Answer :-gigeT gijur

32)

Question Stimulus :-

4 dferat & a3 o fora €1 399 | e o arelt U wifee-
o WM & BT QoA - GRear § 3mg
T FSIAT - ST ARAT
o gl 951 - faar fremn
o HIS P A - Igd DT AT
Correct Answer -1t &1 9 - 3ga 3T 81

33)

Question Stimulus :-

e srg=de o1 |aTT Pire-



yRrehear @1 o B fhdt & srehs giam =it o
TG Ut a3 & g1 S¢ ago! oA 7 4 firad

IR R forelt shiam o=t
ST 9 3U 99 ¥ & $vd Bl

&1 & ToTaT 2 A S 9gd g aidt ¢l fien & dg valt off ad s e o

T ST 7T SIS}, Te A el
TR q AT foRT Wi, 31 @1 merdt ¢ 11

o TAAdT B &
o Witd wvd y¥ 78 Wi
o T FUA § g iR
o Iwdaa a
Correct Answer ;-9 9UA § g9 Aife

34)

Question Stimulus :-

o tgR & TE W BT T FifTe-
B A BIPHR, AT ATHI

UE T8 UTRT T I < ||

* TR
o firif
* TR
* AR
Correct Answer :-fir<if

35)

Question Stimulus :-

9 vl & T8 S &1 Tu Hife-
ARFHH TREI It At el
T & ARG gy & HisTI

o gigen
o [YHRA BT Bl



* UHS! BT oA
e TTH | @I T8l
Correct Answer :-HYA®Rdt BT S

36)

Question Stimulus :-

Rt W ST 311 X 3 arlt RIS AETeH B e
o faurg
* U
e JARIHE
o WU
Correct Answer :-3[4d
37)
Question Stimulus :-
o dfda # oq ugarfe-
“HTg o AT Y B, 39 & Jo1 e
WS HTAl § WIS, HIGAT UIAT a1 11

® Nl
Correct Answer :-fifaer
38)
Question Stimulus :-
o dfda # o ugarfe-
“Harar gy gfva ue R Yo @
T 9% g-gge, AW WEIR 3



et ¥H-yaTs, Ta AN WA §
SdIeH W-9¢, ATEA Rigd 87
* Td
o gfaur
o HHt
o el
Correct Answer :-3dl

39)
Question Stimulus :-
o dfeml # srieR ygafe-
"I S AR favg, wRa waifyr iR
Tty w3 g wryfea wur Rig vgaRi”
* TUD AAPR
* JUAT PR
* WdE PR
o YifoHH SrEdR
Correct Answer :-FU® PR
40)

Question Stimulus :-

A YR $t ugdl HIRN® yh®eT 1915 # f5y R ¥ g1l g5 ?
o HiuTe
* R
o WIfeRR
® WAy
Correct Answer :-g¢R

41)



Question Stimulus :-
a4 @ o= uBer Wiua d yoilRe §id g 2
o Tyl
o JIHTHR
o gatue duran
o IR |t
Correct Answer :-3WRisd 9t

42)
Question Stimulus :-
fru fafea 6 arram=i # & yyw 9 sifow Fifda 8 v o Shua wa | sgafeua il
(1) R 3Fd Id B &
(T) S Tda Tl &
(¥) foreia v uififes
(9) TR X AeW Slla3-Usfa
(9) STSFR| Td ITATEAR] B
(6) ¥u ¥ yfafda forar 8

* ¥THY

e gIAT

® gv¥ygd

e ¥dYdq

Correct Answer :-=¥ddd

43)

Question Stimulus :-

o fafea 6 aream=i # & wyw 9 sifow ffda €, I 31 i ww § e S
(1) fay &t 1 depfaai &

() U1 3guH Hiey =¥

(F) SO YT, SRt Heuamiterd



() YRAE THY YRAERT
(T) & BRUT Mo oft

(6) 3O AR w= Y@ 8
e gI|T
e dUIY
® IUT
® ¥YEUT
Correct Answer -89 d

44)

Question Stimulus :-

3rfi-anft wiur A g 82

o U YFPTA

o I YT

o qUl qdH HTA

o ifgy guf adw™ H1a
Correct Answer :-3H7 Yd&id

45)

Question Stimulus :-
“ufa af 9 & 918 o el 87 9/ § P59 PR # I3

* Ffwara®
o Gifaara®
* YGarEa®
o UEES
Correct Answer :-wifddara®s

46)

Question Stimulus :-



“ BT~ HEIHTH & TAATBR BT A1 &-
o IMYNIRE feTw?
* PHIEAH
* SUXP UG
o <igavard
Correct Answer :-SiU3®x Y41

47)

Question Stimulus :-

R & gRT 7% &1 U3 § "SIy ghm-
. firg o
43T TN
o U THH
* Yad
Correct Answer :-433d Tl

48)

Question Stimulus :-

HHIRT® U & 3=ATd -1 & o S |1 U7 31T 872
* T¥P WM °g T
* gUTE UA
* ek ATH X vg
° TTH q BIg TE
Correct Answer :-s4Tg U3
49)

Question Stimulus :-

“HSUT BIGAT"” TTT & TEAIBR BT 71 Fe-

o Jffypre FoTud



o T YN Y&
o FiR Ay
e 3. foma

Correct Answer :-Td1 UHIG Yo

50)

Question Stimulus :-

A A @ o1 @ T g de var 31 82
* TUTd B3
* EPR
* oI dig
o Sftfam

Correct Answer :-ggi dig

51)

Question Stimulus :-

= o arew § 99 91 R e et -
WEIYRT ST &M DI TAH TATHY BlS |

o Tigs fas

o quf v

o diu fRm fog

o 3aru faR faeg
Correct Answer :-31g% fF%

52)

Question Stimulus :-
g aren o T farm fegY &1 wahT gam 32

* 3N, 3MY; AN !

* IHY; M; ™R 3!



* JMY! AN IRMEY =!I
* I | AR =
Correct Answer :-3R! !N AR =N

53)

Question Stimulus :-
“T@ @ & @ gera¥ BT "t o -
* TF i@ qran Al
o Ifa-sfua &1 faaR H=Ar
o IRA-sfaa &1 farfeT fam FasR &
® YHMAI BT HAGR HIAT
Correct Answer :-9HHdl T ATGR BT

54)

Question Stimulus :-

YT ST qUT TS bRt BT e 3 -
o ST AT BRI YT F T AT § R
o T GH gERI & ATY BN AT B GO TR 1Y B3k
o Wi ¥ IFIR Ao i gid §
o ST Wt T SR ST G B
Correct Answer :-&@nRft & 3FUR da W 813 &

55)

Question Stimulus :-

faddga@@aad
& &, 3, T, 3T
e %3, %

* A %3HB



°* I, %, B
Correct Answer :-3(, 3,3, 5

56)

Question Stimulus :-
vy gquf -

° ™

* T

o qIad

* HUST
Correct Answer -z

57)

Question Stimulus :-

T B T | 9T fPaq UPR & 31 72
.« d
o dF
* U™
* TR
Correct Answer :-di7

58)
Question Stimulus :-
e Tree-g & fawel A @ wal srd-vg &1 wue ifore-
BT
° UIST-gHST
* YII-HH
o Jdsr-afie

® gPSl¢P



Correct Answer :-4iSI-g@ sl

59)

Question Stimulus :-
4 2 g & fawedt O 915t ey 98! =81 81 Tad T &1 99+ Pifore-
o yIfOr-urt
* Ga-BId
o TH-fee
* WER-URER
Correct Answer :-U¥-fA&e

60)

Question Stimulus :-
fra aug & 9t wisg vafaart 82

o qduy, 3T, FiE, TP

® Td, T, Uc, UsST

o 3, &9, TdT, WS
Correct Answer :-gqui, 3151, ®1d, gH
61)
Question Stimulus :-
RIgw’ &1 faad gia:-
° 3YUH
* WY
o e
* DT
Correct Answer :-RYq

62)



Question Stimulus :-

e & & o1 91 dga T 72
o faTm
. Ramw
* THTH
* W
Correct Answer :-43d

63)

Question Stimulus :-
for dfeaal @) g 79 # HHAT $ W19 MY, oY 981 P9 79 @1 Ay g @2

e FIR W
o R
* U
o TH I KR T
Correct Answer :-aided 3

64)

Question Stimulus :-

“SedT § U8 SHad-ud § IuAy §-
o Sftaq
® Tadl

SHaa-ud

e Serdl
Correct Answer :-sitgq

65)

Question Stimulus :-



T § U §-
° IH
o JHI
° ¥q
°
Correct Answer :-4q

66)
Question Stimulus :-

o 9 g & a8 amie ue @2

o T A FIE T
Correct Answer :-fearifx

67)

Question Stimulus :-
o d & f5u s & 57 oA § oy T 82
o 3pff
° Tl
o e
o It
Correct Answer :-ufsdag

68)
Question Stimulus :-
AR & ogaR- YRa # fra-ht Siferat 32

e 525



e 515
® 544
e 550
Correct Answer :-544

69)

Question Stimulus :-
ugen fay 3 wwes oef gon?
e TeHdl
* MR
* HADI
* W3
Correct Answer :-ARTqR

70)

Question Stimulus :-

@ 9l &1 gat T 2-

Correct Answer :-&Rdt

Topic:- General Knowledge
1)

Question Stimulus :-

Which sector is the largest employer in India? / PIF-TT &F URT § gad 81 fFaiore 8 82
® Indian Armed Forces / HRAIT U¥Rd 9

® Indian Railways / HRAH ¥



e National Health Service / ?I'@TI WA AT

® Banking / afdr
Correct Answer :-Indian Railways / URdIG ¥
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below:

/ 19 3 faemt iR = fau U Fiel & R W) 9E) IR BT T9T B

List-I List-II

1. Kerala a. Golden temple

2. Uttar Pradesh b. Siddhi Vinayak temple

3. Maharashtra c. Kashi Viswanath Temple

4. Punjab d. Padmanabhaswamy Temple
-1 gfu-11

1. B a. Wui fex

2. IW U b. Rifsfoma® dfez

3. HERTY c. it faymy \ieR

4. ST d. TEFETYRART HfeR

1-d, 2-c, 3-b, 4-a

1-d, 2-¢, 3-a, 4-b

1-¢, 2-d, 3-b, 4-a
® 1-d, 2-b, 3-c, 4-a

Correct Answer :-1-d, 2-c, 3-b, 4-a

3)

Question Stimulus :-

What is the time difference between longitudes? / G & S JHI BT AT 3R B-i?IT % ?

2 minute 4 seconds / 2 fiFT 4 APpUE



* 4second / 4 THUS

* 4 minute / 4 fie

® 4 minute 2 second / 4 T 2 AFHUs
Correct Answer :-4 minute / 4 fiFE
a)
Question Stimulus :-

Which of the following types of coal contains over 90 percent carbon and is smokeless? / Pad & 9 gl |

¥ fpad 90 ufa=a @i giaT 8 3R a8 Yaif Ifed 82
* Peat/Ue
e Bituminous coal / faga- ®igar
* Lignite / foTITSe ) YRT HIIe(
® Anthracite / GUTATSC

Correct Answer :-Anthracite / CUTHTSC

5)
Question Stimulus :-

What does 'XP' in Microsoft Windows XP stand for? q‘l’&'{ﬂﬁﬂ"fﬂi’ fast U 0 # "IN W &1 T o
22

® Extra Product / TRl Hrsae

® Experience / qa;tﬂﬁ'a'\q

® Entry Product / 'Q_gﬁ Hisae

® Extra Power / TRl UG
Correct Answer :-Experience / TaUaH
6)
Question Stimulus :-

Which of the following is not a security or privacy threat? / BT'N}I I Udh Ll {qr&m ar MU-AT &7 GaT T8l %?
® Piggybacking / fopftafdr



® Cracking/ oLl

® Virus /dIgxd

® Debugging / fsafim
Correct Answer :-Debugging / fSaRIT
7)

Question Stimulus :-

The main watershed of most of the peninsular river lies in the / SAfSwI=T yrgda afeal
DT GBI TATAHSTD o uTar ST 8

e Aravalli Hills / 3RIGdll Tdq
® Rajmahal Hills / I/oT9gTd fgeq
® Western Ghats /W@Fﬁ Hrel
e Siwalik Hills / FRrarfere uda

Correct Answer :-Western Ghats / Gf3#} ardt

8)
Question Stimulus :-

Which of the following is the largest peninsula is the world? / fFafafaa d @ fay &1 9 98T UG %?
® Arabian Peninsula / 3R Uragiy
® Indian peninsula / YR URgIq
® Malay Peninsula / | UG
® None of the above / SR Hﬁs‘ :Iﬁ

Correct Answer :-Arabian Peninsula / 3Rdl UTGgIY

9)
Question Stimulus :-

Dollu Kunitha is a famous drum dance of . / ST YT ~==mmmmmmm ®T RIS 39 T 21
¢ Karnataka / $lcPH

e Kerala / W



® Telangana / GG
e Tamilnadu / IS qarg

Correct Answer :-Karnataka / ®-Ic®

10)
Question Stimulus :-

Which among the following was first metal used by man? / o a3 w9 @ YT ™ gIRT LERR S
SUanRT o1 18 At

Silver / T‘-I'Iﬁ
Diamond / ﬁ?T

Copper / didl

° Iron/?ﬁ?

Correct Answer :-Copper / didl

11)

Question Stimulus :-

Which of the following state is in the border of Tripura? / g a9 o9 9 I ﬁ'ERT 31w A %?
e Bihar/ ﬁ?ﬂ'
e sikkim / Rifewa
e Arunachal Pradesh / 3RO 'FI%QT
® Mizoram/ 'Flfa'l'ﬂ_\"
Correct Answer :-Mizoram/qﬁl'g'\"

12)
Question Stimulus :-

Soor Sarovar Bird Sanctuary is located in which district of Uttar Pradesh? / Q‘RW gelt IR SR UG &
fru fora & R 32

® Allahabad / SdTeldlq
® Aligarh / m



® Agra/3IRT

® Azamgarh / 3ITSTHG
Correct Answer :-Agra/ 3V IRT
13)

Question Stimulus :-

Which of the following Indian States is called the Land of The Rising Sun? / fFrafafag yrdg a0 7 9 $ T,
A GRS B YA HFT 1T 82

® Madhya Pradesh / & U%QT

e Uttar Pradesh / 3T% USRI

® Arunachal Pradesh / TSNS USRI
® Himachal Pradesh / 'I%qﬁlﬁ m

Correct Answer :-Arunachal Pradesh / SISUIAA H%QT

14)
Question Stimulus :-

In which of the following countries is the Temple of Tooth located? /e da fea dw ﬁ, aid &1 Hfer R« %?

India / HIRd

Sri Lanka / 9} &1

Nepal / AuTe

Bhutan / HcIH

Correct Answer :-Sri Lanka / 9 @1

15)
Question Stimulus :-

London is located across the river. /T’ia:f :Iﬂ' & TR R4 %I

® Danube / W
® Subterranean / Q{&Fﬁ

° Lea/ﬁ'\?ﬂ



® Thames/ p=c)

Correct Answer :-Thames / 3%

16)
Question Stimulus :-

Who among the following was India’s first one-day cricket captain? / fFafifaa # @ $19 URa & Tgd U
ot frdre T &2

® Ajit Wadekar / 3(oftdl aTS®

® Sourav Ganguly / TRY Tﬂﬁ

® Sunil Gavaskar / '\ﬂ‘ﬂ?f RICEE 2

® Mohammed Azharuddin / TTGWG SSTETEIT

Correct Answer :-Ajit Wadekar / 3[Sfid ara®¥

17)

Question Stimulus :-

Which cricketer has recorded the fastest century in Test match history? / T hdbe & '{I%rsm ¥ {59 fhpex A
T oWl qD ol bl ?

® AB de Villiers / T & St fafeeas

* Virat Kohli / faRTe Pt

® David Warner / 3fd8 a =R

® Brendon McCullum / §98- HHHTH

Correct Answer :-Brendon McCullum / §9189 Hhdedd

18)
Question Stimulus :-

Who among the following is known as ‘Kangaroos’ / % # q B "SI~ HAd &

® South Africa / E'fEI'UT 3fpaT

® Australia / aﬁ'@lﬁm
® England /?;11@"5



® Sri Lanka / IR
Correct Answer :-Australia / 3R ferdT
19)

Question Stimulus :-

Where was 2nd Asian All Star Athletics Championship organized in September 2008? / Revax 2008 #

Fgl DS TR Siid TR TYdfea IfRa=RT maiferd o3 it ot 2

e Mysore / ﬁ'\‘i[\'

® Mumbai / 9§

 Bhopal / HUTd

* Kolkata / BI®IaT
Correct Answer :-Bhopal / HIUTd
20)

Question Stimulus :-

Which among the following is NOT member of SAARC?/ A9 ® &9 U SAARC &1 I<H T8l 82
® Nepal/ LI
e Maldives / ATAdIG
® Jran/ g?F-I
e Sri Lanka / &1
Correct Answer :-Iran / 33

21)

Question Stimulus :-

is the successor body of the Company Law Board. / S AT 918 BT SWIRPR! o™
gl
® National Company Law Tribunal / TI'@'CI FrAT fafdr st
® Income Tax Appellate Tribunal / 3TIHI 3rdtea arfermor

® (Central Administrative Tribunal / HEr U Srfteur



® Securities Appellate Tribunal / Uﬁf‘{ﬁf 3rdteia arferpror
Correct Answer :-National Company Law Tribunal / ?Tg']'q HrAT fafer st
22)

Question Stimulus :-

Which among the following is the largest sugarcane producing State of India / g & | B9 91 I59 YR BT
G TST 7T SGUIEH ST 7?2

® Maharashtra / 'FI?'RTE
 Karnataka / Blc®H
® Gujarat / J[oRId
* Uttar Pradesh / 3<% e
Correct Answer :-Uttar Pradesh / 3T UG

23)

Question Stimulus :-

Which among the following countries is the largest producer of rice?

/ Frg & @ B9 1 3 Ud BT JOd 987 SACH U 22
® Indonesia / @ﬁﬁ{m
® Bangladesh / m
® India / HIRd
® China /99
Correct Answer :-China / 99

24)

Question Stimulus :-

DuPont analysis is an expression which breaks into three parts. / §Th? CRGL] T Q?ﬁ Sfiaafad %
K| o o= fee § arsd! 3

® Gross Profit / bd dIYH

® Return on Equity (ROE) / fyed ol E@?ﬁa (GI'ITGﬁé)



® Net Profit / A€ @Y

® Current Asset / AT URUfw
Correct Answer :-Return on Equity (ROE) / f¥e i s%sdl (3M.31.3)
25)

Question Stimulus :-

Who among the following Prime Ministers is not a Bharat Ratna awardee? / o ¥ A g gyt & yRa 9
RIBIR a1 fHer 412

® Lal Bahadur Shastri / dTdT dglgY TRAT
® Rajiv Gandhi / ITSi1g T

® Indira Gandhi / gﬁ?T e

* V.P. Singh / 4.4t Rig

Correct Answer :-V.P. Singh / 41.4t f¥g

26)
Question Stimulus :-

Who was the first CAG of India? / HIRd & Ugd |I.T.Sf B 7
Shashikant Sharma / RUIRIEIG] i

Vinod Rai / ﬁﬁﬂ' I

AK Roy / 1:.%? CE|

V Narahari Rao /aﬂ 7-R'3'\Pf 0]

Correct Answer :-V Narahari Rao / df FIRg:1 3@

27)
Question Stimulus :-

Who was the first Supreme Allied Commander of the North Atlantic Treaty Organization? / e vcdifed @ff

SATATZORE & ¥ G TAgs FHiST HIF A2
® Harry Truman / G5l i’ﬁﬂ'
® Winston Churchill / w1 afda



® George HW Bush / Sifet T8 g2
® Dwight Eisenhower / §dIgC 3TgoHgdAY

Correct Answer :-Dwight Eisenhower / §dIgc 3MTgei-gld?

28)

Question Stimulus :-

Who made the first Telephone call? / FaUYH eI Hid fpa- forar?
® Queen Victoria/ B9 fageifar
* Hello / ga
® Winston Churchill / fae=T affa
« Alexander Graham Bell / 3cigdeY UTgH 94
Correct Answer :-Alexander Graham Bell / Jregaey PIGL] C

29)

Question Stimulus :-

Who among the following was NOT a Vice President of India? / faffla A A FTURT & Wl'g'qﬁf L)
2

® Bhairon Singh Shekhawat / WA Rig Trarad
® Ramaswamy Venkataraman / IHTEETH dHeTHA

® Chandra Shekhar / g @R

* Basappa Danappa Jatti / ST GTWT S8t

Correct Answer :-Chandra Shekhar / 9% V&R

30)

Question Stimulus :-

Who is the father of Zoology? / WIfor A= & T P DI 87
* Theophrastus / fyaNthwed

® Vesalius / Jaferery

® Mendel / Asd



® Aristotle / 3R¥]

Correct Answer :-Aristotle / 3R%]

31)
Question Stimulus :-

The National Flag of India was designed by / HRd &1 ?Tfl’q ol Etﬁ? gRT %Trl'l's;_-l T T Ut
® Pingali Venkayya / el 9
e Jawaharlal Nehru / mﬁ'@‘?
e Mahatma Gandhi / HgTHT T
® Subhas Chandra Bose / JHV I a9
Correct Answer :-Pingali Venkayya / fUiTelt dopam

32)

Question Stimulus :-

Among the following, which is the highest designation in Indian army? / fFrafafad A 9§ yRdg J91 9 gai=
UG DI AT 52

® Lieutenant General / dftede S Rd
® Brigadier / frifesaz
® Major General / SR S Rd

® (Colonel / B

Correct Answer :-Lieutenant General / AfeAC STHRd

33)
Question Stimulus :-

When is the “Indian Electrical Equipment Industry Mission Plan” planned to be completed? / “YRdg ﬁgu?r

SUDHIUT JTNT A& AT D) HF T HIA DI AT 82
® 2018
® 2020

® 2022



* 2032
Correct Answer :-2022

34)

Question Stimulus :-

® Prime Minister / HUTTHAT
® Rajya Sabha / TS HHT

® President /ITY ufa

® Lok Sabha / @I HT

Correct Answer :-Lok Sabha / @ THT

35)

Question Stimulus :-

Both Ashoka and Chandragupta were_. /I SR MR ?&'{I‘H _QI
® Guptas / W
® Mauriyas /'Fﬁ'{f
® Marathas / HITST

® Rastrakutas /TEPC

Correct Answer :-Mauriyas / T4

36)
Question Stimulus :-

‘Geeta-Govindam’ by Kavi Jaydeva was written in ./ Hia \_rl'CIé? GRI afiq Tﬁﬁ’*ﬂ'ﬂ" o forar mar Yt

® Sanskrit /W
® Kannada / PAS
 Maithili / AfUeht

® Malayalam / HATAH



Correct Answer :-Sanskrit / §&pd

37)

Question Stimulus :-

Who among the following issued the lion slayer-type of coins? / g ¥ 9§ forae IR &t Wﬁf arel frad SRt
ford

* Adil Shah / 3Mfe =TET
® Krishnadevaraya / W
® Harsha / B'Eﬁ
® Chandragupta-II / W-II
Correct Answer :-Chandragupta-11 / T~Sg[&l-11

38)
Question Stimulus :-

Who among the following was on board Sukhoi-30 when it took-off on 25 November 2009 from Pune? /| T Qe

gE@s - 30 § IS 4T 9« 30 7 25 Ta@E% 2009 H1 YU § ISH W2
e M.S. Dhoni / TH.TH. T
* Pratibha Patil / WfayT uiRa
® A.P.J. Abdul Kalam / WS\, 3sgd e
® Aishwarya Rai /Q’H'Q'f M
Correct Answer :-Pratibha Patil / UfauT UIfed
39)

Question Stimulus :-

Which among the following states has lowest density of population / o d 3 frg wsg § Smardt &1 e\
e $H 77

o sikkim / Rufdwd

® Arunachal Pradesh / 3T ‘JI%-‘!T
® Goa/ Mar

e Kerala / G|



Correct Answer :-Arunachal Pradesh / 3R=A1dd L'I%'QT

40)

Question Stimulus :-

NASA successfully launched a super pressure balloon from GG ] WTW TP U qdld G
TERP 3y R

® USA/YEH.T

® New Zealand /?Eﬂﬁg

e China / 9H

® |India / HIRd

Correct Answer :-New Zealand / <qeIdS

41)
Question Stimulus :-

Who founded in London, the Indian Home Rule Society?/ @G- L m ﬁ'ﬁ A @'\‘I’IE'(_& P TYAT fFa B2
® Lal Hardayal/ €TeT gl
® Madan Lal Dhingra/ Ha- €Tel i
® Sardar Ajeet Singh/ 9 qIY 3reita Rig
® Shyamji Krishna Verma/ OIS Gl Tt
Correct Answer :-Shyamji Krishna Verma/ XUTHSI G017 qut
42)

Question Stimulus :-

Which of the following states is NOT on the border of Kerala? /ﬁ'ﬂ H T DI 91 79 A I AT )R qﬁ %?
e Andhra Pradesh / 3T=8[ ';I%'QT
e Karnataka / HICH
e Tamil Nadu / afere qarg

®* None ofthese/E:lﬁ 3 ﬁé qﬁ'



Correct Answer :-Andhra Pradesh / 3T/ ﬂﬁi‘ﬂ

43)
Question Stimulus :-

Who is the CEO of NATGRID? / A€fI§ (NATGRID) T Hg3it HI19 82
e Ajit Doval / 3[id glaTd
® L Pachau/Td T3
® AK Singh Jyoti / t{.a? Rig Saifa
* AK Patnaik / U.% UcATI®

Correct Answer :-AK Patnaik / T.% UeATIH

44)
Question Stimulus :-

Who was conferred the Mohun Bagan Ratna in 20162 / 2016 ¥ Higd aNTH ¥ & 57 guf=a fear e

® Baichung Bhutia / STS ‘H:ﬁ'qT

® Syed Naecemuddin / '\‘:Ig_c." T{g@ﬂ'-r

e Karuna Shankar Bhattacharya / ®%Ul i$ gL
® Sunil Chettri / '\ﬂ:ﬁﬁ oA

Correct Answer :-Syed Naeemuddin K I q'ﬁf'q:fﬂ:r

45)
Question Stimulus :-

When was ‘Central Indian Security Forces (CISF)’ established? / "HHg HRAT & 9t (;ﬁ&n%qwm?)' G|
RITYAT ®d g3 A2

® 1959
® 1965
® 1969

® 1975



Correct Answer :-1969

46)
Question Stimulus :-

World Food Day is celebrated on / ﬁ%{ ECIE) ﬁaﬂ HAT™T \‘sﬂ?ﬂ%
® October 16 / 3dgdR 16
® October 26 / 3FgdY 26
® October 6 / 3dgd’ 6

® October 14 / 3[dgeR 14

Correct Answer :-October 16 / 3[dgax 16

47)
Question Stimulus :-
Which among the following states has the largest concentration of stupas? /
fora & @ frg v § Ul &1 farerad SHgur a2
® Himachal Pradesh /%'Fl'ﬁlﬁ ‘JI%QT
e Madhya Pradesh / A USRI
e Arunachal Pradesh / SIS OIS WRT
® Uttar Pradesh / 3xI} ‘J%QT
Correct Answer :-Madhya Pradesh / 959 HeRT

48)

Question Stimulus :-

Most important river island in Madhya Pradesh is / H&] U%QT | m n'a'aqpf q?ﬁ a'q %
e Kalbhairava / BTANRT
® Omkareshwar / STHRIER
® Wainganga / TORAIT

® Nauradehi / T'ﬁ?'lﬁ_(ﬁ



Correct Answer :-Omkareshwar / 3T®TREAR

49)
Question Stimulus :-

When was the ‘Hindi Granth Academy’ in Bhopal established? / Hura & '1%78[ Y Gﬁ'?l?lﬁ' B RITYAT B DI
gt A4t

* 1956
* 1969
* 1959
* 1961

Correct Answer :-1969

50)
Question Stimulus :-

Largest river of Madhya Pradesh is / & EI%'QT P gad a@’r 7'|T:ﬁ %
® Chambal / I+
® Betwa/Sddl
e Sindh/Rig
® Narmada/ HﬁﬂT

Correct Answer :-Narmada / THGl

51)
Question Stimulus :-

Which of the following rational number lies between 1/4 and 1/2 / faddsa @ uma e sk 12 &
it fRua &

* 3/4
* 3/8
® 9/8

® 372



Correct Answer :-3/8
52)
Question Stimulus :-
pr-q=7andpq=30ﬁndthevalue 0fp2+q2./1'lﬁp-q=73ﬁ?pq=30?‘ﬁ'pz+q2$[qﬁﬁ$fﬁfal
® 19
® 49
e .20
® 109
Correct Answer :-109
53)
Question Stimulus :-

Manu is 7 years older than Meena. If the sum of their age is 25, what is Manu’s age? / H Hr & 7 9ma a_(ﬂ %|

gfe IS 3T BT AN 25 §, °f A DI MY T 32
e 9years /9T¥
e 19years 6 months / 19 I¥ 6 HgA
e 16 years / 16 9
e 18 years / 18 T4

Correct Answer :-16 years / 16 9%

54)
Question Stimulus :-

A sweet box measures as follows- Length 32cm, Width 20cm and height
10cm.Mini wants to pack 100 sweets in the shape of cubes in it. What should
be the size of each sweet? / T% foTs & fE= &1 A7 39 SR A 8- TaTs 32 A,
ders 20 T, Sa€ 10 | - w9 F meR F 100 R IUH U HIT ARl B
U fUaT1E &1 19 foha=m g anfea?

e A sweet box measures as follows- Length 32cm, Width 20cm and
height 10cm.Mini wants to pack 100 sweets in the shape of cubes
in it. What should be the size of each sweet? / T& U3 & fg= &1

1Y 39 TR 9 o8- awars 32 i, TieE 20 91, SO 10 aH it &



m&gﬁvaﬁmoﬁmﬁmwﬁ%mmﬁ%lmﬁmﬁmmmm

e 8cm / 8 At

* 4cm / 497

e 2cm / 2 9Tt
Correct Answer :-d4cm / 4 9QH}
55)

Question Stimulus :-

Find the fourth proportional to: 8 kg: 32 kg :: 17 kg: ----? / 8 f&um: 32 feur :: 17
fum: ---- & o v g Ao

e 425kg / 4.25 fpar
e 256 kg / 256 fopalt
« 136 kg / 136 ol
e 68kg / 68 fpa
Correct Answer :-68 kg / 68 fopal

56)
Question Stimulus :-

The probability that an integer in the set 1, 2, 3, ...86 is divisible by 2 and not divisible by 3 is

/ W {6 9e 1,2, 3, .86 § quiie 2 I faurfora g ok 3 & faurfora w6t @
* 30/89
* 31/83
* 29/86
° 28/84

Correct Answer :-29/86

57)

Question Stimulus :-



The range of the following data 95, 115, 25, 20, 35, 55 is / {79 STeT &1 Uf¥ER B 95, 115, 25, 20, 35, 55
° 115
o« 20
* 55
e 95
Correct Answer :-95

58)
Question Stimulus :-

The adjacent angles on a straight line is in the ratio 4:5. Find the measure of each angle in degrees in the order. /

TS At AT W UIRARS DIVT 4:5 & JUTd | &1 AP B0 &1 {419 {530 & w0 ¥ Ferfer|
® 40,50
* 80,100
* 60,100
® 200,160

Correct Answer :-80, 100

59)

Question Stimulus :-

If one angle of a polygon is 185°, then that polygon is called a------------------- polygon. / afg gg Yol dT D PI0T
185° B, Tt IH TgYH Pl-mmmmmmemmoe e TEYS Fed g
®  convex / 3«id

® concave / 3{ddd
® Regular / frafua
® Triangle / [ECaLI
Correct Answer :-concave / 3ddd

60)

Question Stimulus :-



"
1.0 .

Distance in km on y-axis y-3& R g3t f6# & Time in hours---on x-axis x-3{& W T GUe|
A postman cycles from the post office to a neighbouring area to deliver the letters and the
parcels. The distance (in km on y-axis) travelled by him at different times is shown by the
above graph. What is the distance covered after the 5 hours? / T& SIfdl Ul &7 fAaR01 H31 3G
STHEM I USRI &7 9% Agfed gamar 3] SuP gRT Al aue & 99 &1 18 gl W TT6 gRI(y-34e |
Pt #) fearg mH 8| 5 "vel arg fhaht au ot 7S gt T Enie

® 30

e 20

e 50

e 60
Correct Answer :-30
61)
Question Stimulus :-

The lowest temperature possible in nature / YFfd # YT Ga9 HH UM 3
e 0K
e =273 K
o 273K
« 2730 C
Correct Answer :-0 K

62)



Question Stimulus :-

The charge on a cation depends on / Y- TIT UY 3TaxT AW AR F=ar %
® The number of protons present in the atom / UXHTU] H IufRa dieHl @1 I=m
® The number of electrons present in the atom / UYHTYJ H IufR@ Wﬁ P HE=IT
® The number of electrons removed from the atom / UXHIY[ I o g™ s‘éﬂﬁ‘—ﬁ PI T=I
® The number of electrons added to the atom / UTHIU[ s \_rﬁ% 0| sﬁag‘l’-—ﬁ &I HE&T

Correct Answer :-The number of electrons removed from the atom /W'Ujﬁ IGEA ﬁ'&ﬁﬁﬁ%ﬁﬂﬁ
J=T

63)
Question Stimulus :-

A constant force acting on a body of mass 5 kg changes its speed from 2 ms™! to 4 ms™! in 20 s, without changing its
direction of motion. The magnitude of the force is / T 5 feaum ST B a3y I} B BT el Rz dd,
Iq@! T Bl 2H /A | 4/ § ufvafda sar 8, a1 STt nfa &t fazn 9ea gu1 9@ &1 ufvwmr @

® 02N
® 05N
e 2N
® 5N
Correct Answer :-0.5N

64)
Question Stimulus :-

Which of the following is a possible reading marked on a clinical thermometer? / Siaest yuiHer w® wafa fear
T UG UTedTe P IT 82

« 09C
e 20 9C
e 40 OC

e 100°



Correct Answer :-40 0C

65)
Question Stimulus :-

Which among the following is a weak acid? / fadAq s Udh HHSIR 3 %?
® HcCl
* HNO,
® CH3COOH
* H,504
Correct Answer :-CH;COOH
66)

Question Stimulus :-

The browning of Brinjal or Apple when cut & exposed to air is a /e Y ST a1 99 B qa1g * AUh # @A R
IADT [T YRT Y &A=

® Physical change / 'l-ﬁﬁﬁ? qﬁﬂ?&[ %
® Chemical change / ITafe afvad %
® Reversible change / SBAITY Ufad- %
o NochangelwWWq’mﬁqqﬁ%
Correct Answer :-Chemical change / IrETafe ufvad= %

67)
Question Stimulus :-

Which out of the following can be present in both the nucleus and the

ribosomes / 15 § & $I9 A4S 3R WSS gFT A SURRIA B GFd §
* DNA/SLTAY
* Free aminoacids / qUd 3T 3 d
* MRNA / TH 3R.GA.Y

e tRNA / & 3RR.TA.T



Correct Answer :-mRNA / TH 3[R.TA.T

68)

Question Stimulus :-

AT Y Yo-mmmmmmmmmmmmm IRTATY fearar §
e Axile / Wg
* Parietal / ficita
e Marginal / 3Uid
e Basal /3Muii®

Correct Answer :-Axile / W

69)

Question Stimulus :-

placentation / S§PIB®! AHSTRA

The term used for the structure used to transfer genetic information from one cell to the

other in genetic engineering is

/ 3rgaitres
mﬁwmwﬁﬂmﬁﬁmm%mwﬁwmm% CERS

* Carrier / ATE®
e {-RNA /¢I-3RTAT

* m-RNA / TH-3REAT
® Vector / ddeR

Correct Answer :-Vector / 9acX

70)

Question Stimulus :-

aﬁmﬁaﬁﬁwaﬁﬁm@rwﬁw

The science which uses Fossils to study the history of life on earth is /d8 ﬁiﬂ_"l' | q%ﬁ W Siaqd &
I 31 g H1 & e Sfarsq &1 TR ST @

® Archeology / YTdd R

® Geology / ‘{ﬁm
® Palaentology / Strarsdq ﬁ?ﬂ?



® Life history / Sta-igd

Correct Answer :-Palaentology / StiareH fagm=

71)
Question Stimulus :-

The average of all odd numbers between 1 and 100 is? / 1 3R 100 & §= Ft gt fww F=mei &1 sira w7

G2
* 51
° 49
e 50
e 53
Correct Answer :-50

72)
Question Stimulus :-

What least number to be added to each of 3, 13 and 43 to ensure that the numbers are

in continued proportion? /3, 13 T4 43 ¥ &4 It gaW w=T SIS W+t =rfee o ¥ 3 "=
faaa guTguIfa® g wre?

e 2
e 3
° 4
® None / PIS gl

Correct Answer :-2

73)

Question Stimulus :-
5/8th of 72 s / 72 T 5/591 &:
° 63
° 48

. 45



e 60
Correct Answer :-45
74)

Question Stimulus :-

Remainder when you divide 529 by 35 is / SI§ 31T 529 & 35 & fqurfora s & ! 2W: Remainder when you
divide 529 by 35 is / ST9 3ITT 529 B 35 ¥ fqHITd H= € oY Aw:

e 6

e 4

e 0
Correct Answer :-4
75)

Question Stimulus :-

3 years ago, the average age of 5 members is a family was 17 years. What is their present

total age? / 3 U Ugd, U URGR # 5 Wl @1 3i9d 3mg 17 a9 N1 ada@ # ft Ft oo e
g fbat 22

® 88 years / ssay
® 90 years / 90 T4
® 95 years / 95ay
® 100 years /10095

Correct Answer :-100 years / 10095

76)

Question Stimulus :-

The average age of a husband and his wife was 26 years at the time of marriage. After 2 yrs, then average of the
couple along with their child decreases by 7 years. What is the age of the child? / Ul & qHY U ufa 3R
IAP! Ul DI 3T AT 26 T ¥ | 2 IO 16, I = & 1Y ufd-ufel & Siaa & 7 qut &t H o i |
¥ B Mg fopai @2

e 2yrs /24



® 1yrs/ 194

® 6 months /6 qﬁﬁ
® 1.5yrs /1599

Correct Answer :-1yrs / 194

77)
Question Stimulus :-

Ahmed asked for a personal loan from a bank for Rs. 1,00,000. Out of that, he had to pay Rs. 20,000 to his
landlord, Rs. 3,000 to his partner, and with Rs. 35,000 he had to purchase a motor cycle. How much rupees will be

left with Ahmed after all the expenditure? / lgHg Udh GGk 1,00,000 34U & AfKITd BT 5 ﬁl'l'{ Dodl %I
forad | 39, 20,000 YT U HHTH AP B, 3,000 TUT U4 HEUTH Pt TF 35,000 FUC T SH TH
IR %113%‘6 E’ﬂ?{:ﬁ %’I Pd Td & dlq 3gH¢ & U feaq U FAN?Ahmed asked for a personal loan

from a bank for Rs. 1,00,000. Out of that, he had to pay Rs. 20,000 to his landlord, Rs. 3,000 to his partner, and
with Rs. 35,000 he had to purchase a motor cycle. How much rupees will be left with Ahmed after all the

expenditure? / 3GHGE TP 9 A 1,00,000 TUT & HTHRATT B & fAE Pgal g1 FrgH T 39, 20,000 9T
3T AP HIFAP P, 3,000 TUT 3T TEHT P TG 35,000 ©UT F 3§ TH HieX A13fPpa Wi 81
T & 91¢ 3MgHE & U fhaa =uu g7

® Rs. 39,000 /3. 39,000

® Rs. 42,000 /3. 42,000

® Rs. 43,000 / . 43,000

® Rs. 44,000 / 3. 44,000
Correct Answer :=Rs. 42,000 / 3. 42,000
78)

Question Stimulus :-

Fill in the missing alphabets / U &R yi¥g

ba__b_aabb_ bb
® a,aa
® b,b,b
® ab,a

® b,a, b



Correct Answer :-a, a, a

79)
Question Stimulus :-

89% of 200 is / 200 T 89% B:
° 149
° 160
e 178
e 188

Correct Answer :-178

80)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 9 IR ual # & &9 91 2 33 A ud & TheH JHH 8] 82

Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

(i) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

(ii) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

(iii) Robert S Ingram 1998 Revocable



8 Shaftsbary Ln
Hilton Head Island, SC 29926

(843) 342-7094

(iv) Robert S Ingram 1998 Revocable

8 Shaftsbury Ln
Hilton Head Island, SC 29926

(843) 342-7094

® i
® jv
Correct Answer :-iii

81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the other three? / IGE]
IR Udl § A B 91 TP a1 99 & TheH JHH 81 82

Mr.Koichiro Matsura
Kinsaka Ltd

2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

1. Mr.Koichiro Matsuura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku

Hokkaido - 102



JAPAN

1. Mr.Koichiro Matsura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

1. Mr.Koichiro Matsuura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

1. Mr.Koichiro Matsuura
Kinsaka Ltd
2-2-11, Kudan
Chiyoda - ku
Hokkaido — 102

JAPAN

® i
® jv
Correct Answer :-ii

82)



Question Stimulus :-
A person walks a certain distance and rides back taking a total time of 37 min. He could walk both ways in 55 min.
How long would it take him to ride both ways? / WWW 37 iFe HFT U Ad @Wﬁ%ﬁﬁ gddT %
T 918 A diiedl g1 98 &l I 55 fie & 9d JopdT 81 918 9 S I &) a9 B3 § 3 foha=r 991y
UL

* 29 min / 29f3E

* 92 min/ 92 fiFe

® 40 min / 40f¥C

e 72 min / 72f0F€E

Correct Answer :-29 min / 29f8¢

83)
Question Stimulus :-
A shop keeper buys 16 bags each Rs.225 he sold it for Rs.250 per bag. How much profit did he get? / Tdh
IPTER 16 AN TS 8, TS AA Bt ST T 225 81 TAS Ad B I9A T 250 ¥ 99 faan| 3@
fopae @1y ure gam?

°* 420

* 370

® 350

®* 400

Correct Answer :-400

84)
Question Stimulus :-

Find the next term in the series 7,13,21,31, / ST § SATAT UG [T PIHOIE 7,13,21,31,
e 41
° 43
° 37

* 38



Correct Answer :-43

85)
Question Stimulus :-

Find the next term in the series. / 43¢l # 3nTar qq JTd ﬂﬂﬁf&r

28,15,6,?,0

e 0
Correct Answer :-1
86)

Question Stimulus :-

In a certain language ‘gonk nonk konk’ means ‘life and death’ and ' henk konk bonk’
means ‘live better life’. Then in that language the word ‘konk’ is used for: / et @y yror #
‘gonk nonk konk’ &T Hddd % ‘life and death’ 3X* henk konk bonk’ &1 Hadd % ‘live better life’l
o I HTHT H Weg ‘konk’ HSP AT WART gleT ©:

® live

® Jife

® death

® better
Correct Answer :-life
87)

Question Stimulus :-

In the sequence shown below, which figure comes next? / R fewr & wu A snTelt Wﬁ' P It Eﬁ"ﬁ?



Correct Answer :-

88)
Question Stimulus :-

If Shanthi says, “Kranti’s mother Rambha is the only daughter of my father-in-law, Mithun,” then how is Latha, who is

the sister of Kranti, related to Mithun? / Tlﬁ Thifa ﬁ?ﬁ %, wehifd BT AT TPHT WY gy, ﬁlﬂq @t sﬁﬁ
8t 3, oY T, ot shifd B 984 8, YT F A defta g2

® Grand father / &Il

e Granddaughter / Uit



® Father / LG

® Father-in-Law / dX
Correct Answer :-Granddaughter / Tdt
89)
Question Stimulus :-
A + B means that A is the fatherof B / A + BWW%%A, Ba?ﬁ?lT%'
A - B means that A is the mother of B / A - B #1 Hdad g {& A, B 31 AT &
A x B means that A is the brotherof B / A x BWW%%A, Bm'm%%
A / B means that A is the sisterof B/ A/ BH@TW%%A, B?ﬁ?ﬁ:[%
A ! B means that Aisthesonof B/ A!B ®IHdAd g f$ A, B BT T &
A $ B means that A is the daughterof B/ A $ B&ﬂﬂ?ﬁl’q’%ﬁ?A, B?ﬁa?ﬁ%

If the relationship between D and C is represented as D / A + B x C, then, how is D related

toC? /IR DIRCFHATRTIEYD / A + B x C ¥ ST ST &, df D, C A A Faflra 82
® Mother / HIdT
* Father / T
* Aunt / 3fidl
® Uncle / 3i%d
Correct Answer :-Aunt / 3ficl
90)

Question Stimulus :-

J is the sister of S. S is the sister-in-law of B. D is the brother of B. How is D related to J?/J, S G| ded %I S,B

@1 Wi 81 D, B ®T WIS §1 D, J F $A Wl 32
® Sister /dg
e Sister-in-law / T}
® Daughter / adt

® Brother-in-law / é?ﬂ



Correct Answer :-Brother-in-law / %

91)
Question Stimulus :-

Which of the following is the mirror image of CRICKET? / fow ® | B9 T CRICKET BT E&UT ufafaws %?

OKIOKEL

CKICKEL

CEICKEL

CKICKBL

CEICKEL

Correct Answer :-

92)
Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word
will be: / 19 u% ¥, Ugd e &1 gEY g & A1y fohdl YR | $ig way g1 afe TR Weg +1 91 I &
1y I UPR T AGY T TMRY, o AAT e FHIT:

Newton : Force :: Bell : ? / <J& : §d :: 90T : ?
® Radio / fEa
® Telephone / CGILAG
® Telegram / TARITH

® Telescope / W

Correct Answer :-Telephone / eIt

93)
Question Stimulus :-

How many 5 digits numbers can be formed using the digits 1, 2, 2, 4, 2, 4?

3@l 1, 2, 2, 4, 2, 4 BT YA HId g fba-l 5 bl ST TEASHT BT forar w1 |ar

* 120



e 720

* 60

® 360
Correct Answer :-60
94)

Question Stimulus :-

CANCELLED

Meeta travels 4 km towards north and then travels 5 km eastward. She then travels 10 km rightwards, and then 3
km to the left and finally 5 km northwards. How far is she approximately from his original destination and in what

direction? / T IR & 3R 4 fHft arn =t § iR fFd e & 3k 5 fFft arm w=edft 81 a8 fr
ardt 3R 10 fore) g Fcdl 3, SR fibe ardlt ok 3 et iR ofd & Sav @t 3R 5 fopedt | a7 oot
areafae wfvra | fpa-t gl w8 iR forw fomm & 32

® 8 km towards east / Qd @I ¥ 8 foref

® 15 km towards south / Sf&0T FI 3R 15 fHH

® 8 km towards south-east / S&UI-IRF Dt 3 8 fopedt

® 18 km towards south / Gf&0T @1 3R 18 fpe
Correct Answer :-8 km towards east / Jd @1 3fX 8 fotft
95)

Question Stimulus :-

Malini travels 10 km towards south. He then turns left and travels 2 km and then turns right and travels 4 km and
finally travels 2 km towards the east. What is his position (in horizontal and vertical directions) with reference to

thestartingpoint?/mmﬁmlowwm%lﬁmaﬁm%mmﬁm%
3R 4 fpHT grem e € 3R 3id & e Pt 3R 2 frt arn ot 31 Suat fRAfa (&foet ik wwaa
fo=maf o) sy fig & ded 4, 7 &2

° 4kmt0theeast,14kmt0thes0uth/4wmﬁm,ﬂﬁimﬁ3ﬁ?l4w

° 14kmt0thesouth,4kmtotheeast/Efz‘maﬁ\?rﬁ?14%,%3&&?4%

° 18kmtothesouth,14kmt0theeast/Ef&I'UTaﬁGﬁ?18%,%3&@14%

® 18 km to the south, 8 km to the east / Gf&UT @I 3R 18 fope, Waﬁ 3R 8 fpHt
Correct Answer :-4 km to the east, 14 km to the south / 4 fopett Rd I Gﬁ?, afaror &t ek 14 feHh



96)
Question Stimulus :-

Select the statement, which is the logical equivalent to the given statement. / 9§ Y1 ﬂﬁﬁ

o 9 @1 =R F 38 T FY7 & THH B

“It is not true that some dogs bark or some birds do not have feathers.” / “dg d4d Hﬁ% f&
PO P4 Hied § a1 $o RIEA & v 78 g1~

® Some dogs do not bark and some birds have feathers. / S ﬁ Wiwd T8 & ST PSS fafsal & v g
gl

® No dogs bark and all birds have feathers. /ﬁs‘ ot Qﬁ Wied T-Iﬁ % 3R g+t ﬁ'%'q)f & U9 ﬁ% %'I
® Some dogs do not bark or some birds have feathers. / P& Qﬁ E Wied ar PO ﬁl’%’*ff & U9 gid %'I

® No dogs bark and some birds have feathers. /aﬁé ot ﬁ Wdd ﬂé’f % Gﬁ? PO ﬁl’%ﬁ > ug '6;1% %'I
Correct Answer :-No dogs bark and all birds have feathers. /@1g 4 $o Hiha &l & 3k T+ RIfsT &
U9 g g
97)
Question Stimulus :-

Select the statement which is the logical equivalent to the given statement. / 9§ ®Yd ﬂﬁl’&

Y 9% @1 =R F 33 T FYT & U B

I will need extra tuitions if I take up math or science / 3t 3ifaRe fRgor 1 s=eva gift afe - |
TIfora ar fag aan §|

® |f | learn math, | will learn science /TI'% # 7fora &1 SremaH 3)_:!%, GIR:| ﬁ?l'l‘[ BT AT BT

® |f | don’t learn science, | won’t need tuition /?T% o ﬁ?l'l’-l DI AT 9 W«%, G| 'ﬂ@ QT&‘I'UT CARCIGRUG I
T8l gift

® If I learn math, | will need tuition / af¢ & T ST Sreay &, A Yt fReor #Y mazaswar giRft

® None of the above is warranted. / S0 # I frddt $1 MRUdt =r€r %I

Correct Answer :-If | learn math, | will need tuition /'Clﬁ - | O &1 g ﬁa’ a 'ﬂ@ ﬁT&‘I’UT 3|
STaRgadr gt

98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawey i[ﬁ'a

ot fad T SyAT SR sl & IR # Wt 8



Statements: / PY:

Some whistles are mice. / P9 Qﬂﬁ?ﬁijﬁ gl
Some mice are lions. / $9 T8 |
Some lions are caves. / $9 FﬂT‘ICFI'Q gl

Conclusions: / fass:

i.Some caves are mice. / $S THU g &l
ii.All whistles are caves. / 94 difear 7w B

® If only conclusion I follows / af¢ Had frspd 1 fFrpadr ?
® If only conclusion II follows / ?TI% Had ﬁ'l'mﬂf 11 fAeadar %
® If both conclusion I and II follows / ﬂﬁ ﬁwcf | \?rﬁ?' 1I atﬁ ffreed %

® If none of the conclusion I and II follows /'Clﬁ ﬁwnf I Gﬁ? 11 ﬁ '\ﬁ aﬁ'é T'Iﬁ ﬁlﬁ?ﬂ %

Correct Answer :-If none of the conclusion I and II follows / af¢ fpd iR A A aﬁé qﬁ IECINGI

99)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / T8 faweu gHa
S i3 T Y= ok Frepul & ar § 9 ?:

Statements: / ®YH:

All fans are sockets. / I v Aibe %'I
All sockets are jelly. / 9 Gibe St &1
All jellies are windows. / I wielt fasfear 21

Conclusions: / fAts:



i.All windows are fans. / 9 fasfear @ g1
ii.Some windows are sockets. / $© fQsfaar Aidbe g1

® If only conclusion I follows / afe waa fsed 1 fewear %

® If only conclusion II follows / TI'I% aﬁﬁ ﬁ'ﬁaﬂf 11 ﬁﬁ?ﬂ %

® If both conclusion I and IT follows / af¢ e 1 8k 1 Il Frpad %’

® [f none of the conclusion I and II follows /'Clﬁ ﬁ'wﬂf 1 Gﬁ? 11 ﬁ ﬁ aﬁi T'Iﬁ ﬁlﬁ?ﬂ %
Correct Answer :-If only conclusion II follows / afe Had e 1 freadr %

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁﬁ
S i3 T YA ok el & ar § 9E @

Statements: / ®Y:

All numbers are prime. / 4 I@I¢ 37 2|
All primes are old. / 9 31 RMA g1

Some olds are dead. / & TR Hd &l

Conclusions: / fapd:

i.All numbers might not be dead. / It GBI ga &l gt & d|

il.Some primes are definitely dead. / $9 3 At & qd %'I
® If only conclusion I follows / Tlﬁ aﬁ'ﬁ ﬁ'ﬁaﬂf I ﬁ?’_c‘l'aT %
® [f only conclusion II follows / TI'I% W ﬁ'l'mﬂf 1I ﬁﬁ?ﬂ %
® If both conclusion I and II follows / TI'% ﬁWﬂf | \?rﬁ?' 1I atﬁ ﬁﬁa %’
® If none of the conclusion I and II follows /'Clﬁ ﬁWﬁf | Gﬁ? 11 ﬁ ﬁ aﬂ'é T'Iﬁ ﬁlﬁ?ﬂ %

Correct Answer :-If none of the conclusion I and II follows / af¢ frpd iR A A aﬁé :Iﬁ IECINGI






